HP High Court Assistant Programmer Question Paper Held On 03 March 2024

PDF:-WWW.HIMEXAM.COM

"

Father is aged three times more than his son
0
be two and a half times of Ronit's age. Aftar fryr. ¢ ~rter 8 years, he would

urt
llme_?:mﬂa' he be of Ronit's age? her 8 years, how many
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(C) 2 75 times @ 3 tlmes i

77" /A man is 24 years older than his son. In two years
“age of his son. The present age of his son is;
(@) 14 years (b) 18 years

, his age will be twice the

-(5) 20years P . _(a)'-

122 years
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(a)' 3'1‘245

Y b
(c) 54321 (b) 1,2,4,3,5
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a4 mean

1. Family .
y | 2. Communit 3
4. Locale 5 Countryg § —Momhnr
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1, Wey13,1,2,5.4 4
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@/ A bo
y is sitting at the back seat
. of a car. When the
moving the car (in forward dlroction)ci'll;a boy experiences

driver suddenly starts
backward

force?
(8 Always (b) Never
_ (©) Often N (d) Sometimes__ ,
11.  The total of the ages of Amar, Akbar and Anthony is_80 years What was the
total of their ages three years ago ?
(@) 71 years (i (b) 72 years ‘R" b 3+
(©) 74 yeas  (d) 77 years ) A
1 “number of friends decided to go on apicnic 3 'and planned fo spend '

on eatables: Four of them; howeverﬁdid not turn up. As a consequence, the
remammg ones had to contnhute ch extra Tho number of those
who attended the picnicwas =~ & ‘a SRE

(@ 8 (b) 112

( 13:-‘ A Fﬁﬂeébple costs Rs \s each A watermelon costs Rs 5 each X speﬂdS Rs.
rchased is -
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'14. " Question: In which year was Rahul born ?

| Statements:
L I Rahul at present is 25 years Loungm-to_____jl_i_s__r,nother.

1. Rahul's brother, who was born in 1964, is 35 years younger to his
mother _
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(a) 1 a!one is suﬁ’ c:ent (b) Il alone is sufﬁc:ent while | alone is not
while Il alone is not sufficient
sufficient

"1 (c) “Either lorll'is
; . sufficient
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(0) Helmel (d) Veil

@1 F1Choose the word which is dl{foront‘ﬂ'om the rest.
(b) Yajurveda

e Ayurveda
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G} Which one will replace the question mark ?

() Rigveda
(c) Atharvaveda
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(a) An exammahon of

ami : L% .
tissue removed from a body amination of tissue removed from a dead
living body. '

T .,(c)‘,i]\n exammahon of o|d
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(a) One who is not sure

—— about God's existence.

s ‘E?l;.» One having different &

@“_ == style of living.
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()  One who gélleues #h God's existence.
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(C) a man with arrogance () a dishonest person
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35. lam tlra& as f am workmg since 7 0 'clock in the morning.
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He can Speak French,

k ( ) e DY h'
: French can spoken by (b) rren aﬂ be P ettt
nch can pe spoken (d) Freng, rould be S .
by hrm _
33_ ik i : . S |
Wo must havo oboyed our toachors ..... é be en obeyed.
ight hav
(a) Our leachers mlght (b) Our teachefs m'g -
have obeyed. i
s =5 beyed.
Ic) *'Our teachers must (@)} O roneters must have 0 'F.'y T
39. o o
My father loves me. = e
P P4 S Lrmrm ther = P B
*(?) 1 Ioved my falher ______ (b) Iwas |oved bY mY fa P et hians
7 oo h her
() | were loved by my (d) | am loved bY my fat !
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(3;' He has hated by us. (b) He is hated by us.
©) ‘He. was hated by A 5 (d) H%w'li Qated by us..

et a1

s ' the National
41. What is the daily payment Ilmlt it for UPI tilrn?;cr:;cz;;i L:s:rty?‘Y 20249

Payments Corporation of India (NPCI)OSI;;S 9 3 =
(a) Rs__1o 000 n i(w e e

s; ’..,.

- (d) _ Rs 5 lakh

42 Margrethe 1% who?é’éehtly a'ﬁﬁé‘ﬁnced to ahdlcate_ the throne, is Queen of

i AW jCEQQQH_m SR R
(ﬁ) Sweden ﬂ;) Norway

43\'-'.-.";”1":,1 hcn.cketelruhas bee;n.‘ .a.PPO-'"ted as the' youth voter awareness
mu and Kashmir?
ambassador for Jam “__?Vra t Kohll

® 7
(c) Suresh Raina (@) Gautham Gambhir

14." India has begun talks for a free trade agreement with which gulf country, as
 of2023?
(a) Qatar (b) Oman
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(¢) Roshni Nadar (d) Madhurl Buch

'46. Which Indian state approved a socio-oconomic survey of the state’s.
~indigenous Muslim population?

(a) Arunachal Pradesh (by Assam
© West Bengal J « o) Bihar
. r\.v‘ t Y I.& ‘-.a', \ 'ii-;'.,g 1 ! ! BATre
47. Who has been swom in as the Chief Informatlon Commmsioner of India?
@EE‘ Praveen Kumar (b) Heerala'l Samanya et
‘== " Srivastava AR D R
(c) Nitin Agarwal (d) ] R Haru Kumar _ _
48. Wh‘f:h fnfgtution Inaugurated Its Zanzibar (Mrlca\ cam us in Tanzania? -
[Ths s -a \.\f_‘lﬁi..'— Thy - 3 i *"‘:'A‘:‘H‘l‘,‘ > b p.-{ ol l'. et VY i T 'v o TR
(a) 1Sc Bengaluru (b) nT Madras *" - :
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49,
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(c) R R:{/;erma . (d) .Ashwam K.umar'
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(@) Itis 300 years old
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3 tern.
(@) One of the oldest nd ju

democragies’ of the
world Consisting of
about 500
families,
(c) Devta Jamlu s revered (dy

il

All
here.

@ Bhunda ceremony takes place at Nirmand after o
(@) 22 vyears B> 12 Years
(c) 4 years

(d) 10 vears
o
Qg,. Old name of Baijnath is

(&) Keergram (k) Khailgram
(c) Kolgram (d) None

56 Pagoda style of temple architecture in H.P. came from

(@) Srilanka ~ (b)wMayanmar
y
(c) Nepal . _ ' (d) Combodia
@ The rath yatra of Lord Rah'unnathji in Kullu starts only on the arrival of the
goddess
(a) Bhima Kali £ ¢ Hidimba
(c) Lord'Rama (d) None of them
58. Rail Car.on Shimla-Kalka railway line was intreduced especially for the
journey of _
(a) Queen Victoria (b) Viceroy
(¢) Lord Auckland (d) Lord Lytton
_597” The building of Accountant General Office (A.G. office) in Shimla was
known as
() Bentick Castle (b) Gorton Castle
(c) Fridkot House (d) Nabha House

£0:  Oakover, the official residence of the Chief Minister of H.P. was once the
summer residence of :
(@) Raja Bushahr (by Raja Jubbal
(c) Maharaja Patiala (d) Raja Sirmaur

617" Which WLAN IEEE specification allows up to 54Mbps at 2.4GHz?



M ol (b) 802.11B
(c) 8
= %0216 (d) 802.11N

52, Whij
ch of ;
addigne 1210 following is the valid host rang, fo
192.168.168.185,265.255,256,192.regjgqqp © © P10t O Which the IP

da 38
(@) 192.168 168 129-190 (b) 192.168.168 129_191
(¢) 192.168.168.128-190 (d) 192.168.168 12g-192

63. 7
- To back up an 10S, what command will you use?

(8) backup 10S disk (b) copy ios tftp
(c) copy tftp flash (d) copy flash titp

yWhat is the name of the method used to start a thread execution?

(a) init() (b) run()

(c) resume() (d) start()

C_§5./' Which collection class allows you to éssbciate ite elements with key values,
and allows you to retrieve objects in FIFO (first-in, first-out) sequence?
(a) java.utilArraylist (b):#java.util.LinkedHashMap

FERE

{d)” java.util. TreeMap

-—

=

-(c) iava.u{il:.HashMap

falb 4
/35'. In the following code what is 'P*? " 4 i
typedef char “charp; ' :
const charp P; :

(a) Pis a constant (b) P is character type

(c) - Pis a character (d) None of the above

constant
Which command is used to determine if an IP access listis enabled on a

particular interface?
(a) show access-lists

(b) show interface
(c) show ip interface (d) show interface access-lists

3‘( In the “C" language , local variables can retain their value

between function calls.
(a) extern (b) register
(d) auto

(c) -, static



(b)

c
() 1and4 (@

71
L~ :Nhil_za;gdtwo purposes for segmentation with a bridge?
. more broadcast domains.3.To create more.co

1) "()at f=

t
A Compyggr 1angud

1.0,
float 1 -~ 4 0d.
go?

1land 3

3 only

llision domains.

3.To add more bandwidth for users, 4.To allow;more broadcasts for users.

@ 1 only

(c) 2and4

()
@)

M./‘ To perform level-order traversal

data structure will be required?
(b)
(d)

(a) Hash table

(g Binary search tree.,

dataelements?

(a) Arrays o (b)

Pointers (d)

(©

/—‘% DNS is the abbreviation of ?

(@) pomain Network (b)

Service
(¢} Domain Name System

d

7)

a

= Who invented Java language ?
) James Gosling ~(b)

(c) Grace Hopper (@)

‘éz.._ % 8 ¥
4 only
on a binary treo, which of the following

Queue

Stack

Which of the fellowing data structure cén"t store the non-homogeneous

Records .

Stacks

Dynamic Network System

Domain Name Service

Deniss Ritche

John Backus
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What is motherboard ?

(a) Sqanner and olher
things are part of
motherboard

(©r A circuit board which

© connecls all the
elements

/?7».**‘

(b) Keyboard otherwise known as motherboard

(d) Itis atypeoffile server

Which of the following language uses the classes but not the polymorphism

concept?

(@) Object-based _
language

{8) Procedure Oriented
language
&

(@ Bus
"@}/Car

&

(a) Assembfy Language

(© COBOL
887

(@) _Bill Gates, y
OF th:lh_n McCarthy V¥

(b) If classes are used, then the polymorphism
concept will always be used in the
programming languages.

(d) Class-based language

Whic_h‘is not a net\;ork topology ?

(b) Ring
'_(d)__Stfar_ "i.f":\ %

X .
s

Which among following is the Jwestform of Computer Language ?

&) Ma_é.hin_q Lathage

(d) Perl

Who is the founder aprplé Computers ?

) Steve Jobs
(d) Stephane Lyndse

8
2 In Object Oriented Programming, What is the implicit return type of

constructor?
‘(@) No return type

() Void
1“? £
(a) To correct the

spellings

(b) A class object in which it is defined

(d) None of these options

What is the use of bookmarks ?.

“p) Tojump lo a specmc location in the document



C) . i : i
(.,) 1 To ignore spelling (d) To Saye alignments as itis

mistakes
.@ Which is not a font style ?
(@ Bold 2
(o) Superseript
(©) Itaiic #
- (d) Reqgular

Under which pillar of OOPS do baﬁgc,aw_eriyed-class relationships

come?
(a) Polymorphism ) Inheritance

(c) Encapsulation (d) Abstraction

85+ What is meant by ‘a’ in the following C operation?

fp = fopen("Random.{xt", "a");

23,
13 Attach | (EJ Append
: TS SRR IR
(c) Apprehend (d} ‘Add
T ) L
On an excel sheet the acﬁve cell in '"dICated by ?
(3 A dotted border. (BY A dark wige porder

() A blinking t;.._a'rcfér . (d) By Htalic eyt

What will be the output of the following ¢ (o4

1. #include ; <stdio.h>
2*‘ int rnai.nO
3 G,
4. signed char chr;
5 chr = 125
6 printf(’ L:!\n 2 chr-),
7- ratTurn 0;
g; 2
(@) 128 (b) -128

(¢) Depends on the (d) None of the mentioned

compher

88 :
onvert ex:stmg Excel worksheet data and charts to HTML

You carH:.
imexam.com
document by usmg the ?



(a)
Inte
Met Assg;
sta
ey 2 " S A Ve
Impor vy
T
; zar (@) Export Wizarg

Macr
0s Can p
ee
Xecuted from the which Of the followi
oOWing menu

(a
) FOrmm b 4
(®) Home
©) n
) (d)
_s0. Tools
What wil| b
et}
'@ output of the following € code?
L #include cstdio.h>
2. Struct student
3. {
4. int no = §5;
5. char name[20);
b. };
7. void main()
8. {
= struct student s;
10. s.no = 8;
11. printf(“hello™);
12. } R e Y
(a8) Nothing (b) - Compile Time Error
(c) hello (d) Varies:

/'
Special effectsiused to introduce slides in a presentation are known as ?

£a) trahs_iti‘ons (b) effects

() custom animations (d) annotations

92 The fact that the program contains two variables named n is an example

(a) Overloading (b) Aliasing
(c) Both (d) Neither

93 Which of the following statement cause program control to end up

almost anywhere in the program?
(b) for

(d) dowhile

(@ Goto

(¢) while



What is the se key and
mor " ®d when you pr |d the joft moU
e the Mouse arounq ; Presg .nd ho
(a) he Sllde ?
Moving (b)
(=) MOHitmmg
Dragging d) :
.9 Highlignting :
' Which of the folig ammer to make
wing state the progr he
the control to the beginmngn;f;‘ allows without executing t
statement inside the loop? 15 loop
o Whne ®) continue
©) Goto @)
ot

i o i f the
From the following, which is known as the administrative section o
computer system ?

(@) Control Unit

(b) Input Unit
(©) RAM

B Qentra;_Pfocéssing Unit
97 Whati = B
| " ek RS MR e

Uniform Resource

- {B)Y “Uniform Resource Link
Locator ' . ;
(©)  Uniform Registered (d) uUnified Resource Link
Link

Find the output of the followind € program?
#include<=stdio.h>

{ Intxa=10; o i
- i
printf(“%d%d%d" x x++ ++X)
return O;
} _
@ 111111 (b) 121010
© 121110 “d’ 12 11 11

A wireless technology built in electronic gadgets used for exchanging data
over short distances is ?

£ea) Blu_e‘tooth (_b) Wifi

(c) Modem (d) uss
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false is compulsory
_ after €ach case
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default Statement is compulsory |

T ——



